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(3) _yz‘y—56_ (4) 4x*+ 8xr—45
(5) z*—24x+ 144 (6) m?*+18m + 81
(7). 9a*+ 30ab + 255* (8) 4x* —28xy +49y*
(9) a*—36 10 81 —m?
(1) 25z% — g2 12 4a*— 49p*

(13) x3+2xy+y2—2x~2y— 15
) a*—2ab+b*— 16

(15) 1'2—41’y+4y2+2r~4y+1
16)  9a* + 6ab + b* — 124 — 4 + 4

[% 5]

1) (z+2)(x+9) =2+ (2+9)z+2x9
=2+ 11z + 18

@ (a=7)a=6)=a’+(—7—6)a+(~7)x(—6)
=a*—13a + 42

(3) (y~8)(y+7):y2+(—8+7)y+(—8)x7
=y'—y—56

(4) (2z—5)(22+9)
=(A—5)(A+9) :] B=d

=A*+4A—45
=4z +8x — 45
(6) (r—12)'=2"—2x12x 2+ 12
=x'—24x+ 144
(6) (m+9\=m*+2X9X m+9°
=m’+ 18m + 81

(7) (3a +56)*=(8a)+2 X 5p x 3a+ (5b)*
= 94"+ 30ab + 255°

8) (2x—17y)= (2x)'— 2 X Ty X 22 + (7y)?
= 4x* — 28xy + 49y*

9) (a+6)(a—6)=¢*—¢"

=a"—36
10 (94+m)(9—m) =92 —
=81 —m?
(1) (5z+y)(5x —y) = (5z)' — 4
=2bx® — y*
12 (2a—7b)(2a+7b):(2(1)2—(7b)2
=4a* — 49p*

¥ (x+y—5)(x+y+3)
=(X—5)(X+3) :lx-wzxuow

=X'—2X—15

=Xt 2y +yt—2x—2y—15

W (a—b+4)a—b—4)
=(X+4)(X—4) Jamb=xesg
= K — 1§

=a’—2ab+ b’ — 16

15 (z—2y+1)

=(X+1) :JI*Zy:X&z‘o%
=X'+2X+1

=2 —dry + 4y + 2xr — 4y + 1
16 (3a+b—2)

g} L |Bero=xrne
=X!—4X+4
:902+6@b+>b2~12a—4b+4

5
| P17
(1) 2x*— 92+ 10 (2) 12a
(3) 8x . (4) 2a*—10a—37
(5) 2*—6ay+y* (6) 3zx*+ 8x —43
(7)  bxy — 3y (8) 11a—22
52 &)

(1) (JC-FZ)(JC*S)ﬁ-(JC~4)2
=x'—x—6+2'—8x+ 16
=22*=9x+10
(2) (a+3)2‘(a~3)”:az+60+9*(02‘604—9)
=a’+6a+9—a*+6a—9
=12a
(3) (x—l)(1'+4)-(.r+2)(x—2)
:x2+3x‘4—(x2~4)
=2'+3r—4—2*+4

=3z




(2) £*+122+36=24+2X6 Xz + 6 (2) 2! —9lx+ 18
4) 3(a—2)a+2)—(a+5) | 1% _ Al T
(x+6)
=3a*—12—a*—10a — 25 =(z—5) =92 +18=(x—3)(zx—6)
=2a"—10a—37 15T 1 . P15 (4) @*—16a+64=a"—2x §x g+ 8 @ o+l
6) 2(x—y)—(x+y) —(a—8Yy ) il %;1‘ )
=9(x*—2xy + *) — (2* + 22y + %) (1DP z*—5r—6 @ x+1 & z—6 AT —20, MDY & %5 2 8z, —4, 5
= 2x* — dxy + 2t — 2t — 22y — 3 QP 2*—64 @ x+8 @ x—38 —_— +r—20=(xr—4)(z+5)
e g g 2D alz—y) ® z(y+6) LETE 4 P.20
z— 3 (z+4) —(z+1)(z—8) ® 5x(a—b) @ 4a(2m—n) — i3]
\8) dr—3)= | o (1) (z2+1)(z—1) (2) (a+4)(a—4) 13 P.21
=4(z’+2—12) — (2 —4x—5) ® ab(a+b) ® 2zy(3x | ”
) . 3) +5)(m—5 (4 +10)(y—10
=A4r*+4r— 48— 2+ 4z +5 @ Tay(2a—3y) Szy (1+3y) . (m+5)(m —5) 6)) {10}z — 10) (1) (x—1) 2) (y+3)
5 . — i
‘ 2 (7) (8+m)(8—m) @) (p+11)(p—11) ,
(7) (21_@/)(3””*2(‘”4?) ‘} ' _ (5) (a+9) (6) (1~%>
:21'2+2xy—xy-y2*2(x“—2.xy+y“) = . [52 5]
=22ty —y'— 2" +dry — 29 e &2 F“EJLEE P13 1) r—1=z'-1 [#2 3]
= bxy — 3y* ) 2)(z—38) =(x+1)(z—1) A (1) r*—2z24+1=2"—-2X1xz+12
8) (2a—5)(2a+5)—(a—3)(4a+1) (1) (x+2)(x+7) Ei) Ex 1)(x+9) (2) a'—16=g— 42 . ={z—1)
9 2 1 == — _ - Z
=4a*—25— (4a’ 4+ a— 122 —3) 3) (x—6)(x—17) ] (x+3)( ) . =(a+4)(a—4) 2) y*+6y+9=y'+2x3xy+3
, = 3 _ T —
=4a*—25—4a’+1la+3 (5) (x—=7)(x+8) z ‘ (6) 49—y2=72— = (y+3)
=11g—922 ) (7)) (a+2)(a—6) 8) (y+6)(y+9) =(T+y)(7—y) ) 1 ) 1 1\
9) (x—6)(x+38) 1) (x+8)(x—9) o . u { (6) .r‘~‘r+Z:x“—2><—><r+<?>
d—m =5 —m°
. L 15 12 (a—7)a—9) R
[ 5]
(1) z*+[9)x+ 14 4] P.21
il iy
FEAT 14, FIAT9 L% 5 28U, 2, 7 (1) (z+3)(z—3) (2) (a+6)a—6)
't 9r+14=(z+2)(x+7) 1] P.o1 B m+7)m=7)  (4) (y+8)(y—8)
(2) 2= 10lx + 16 (6) (x+10)(z—10) . (6) (5+p)(5—p) J
e I (1) y(x+4) 2) b(a—c)
MA16, M —10 2% ' Y B) m(x+y—1) (4) 5x(2x—5y+3) [ 5]
' —10zx+16=(z—2)(z—8) (1) 2*—9=x*—3
* =(x+3)(xr—3)
TEAEEA 3 | P.20 2] poq | @ @=36=a’—¢
P - ] =(a+6)(a—6)
W @+2r 2 (g +ar (1) (z+2)(z+5) (2) (z—3)(x—6) 6) 25—p*=5"—p’
(3) (z—5) @ (a—8) (3) (z—4)(z+5) @ (z+2)(x—8) =6+p)(5-p)
(5) (m—1) el {z+4). 5) (x—3)(z—9) (6) (z+2)(z—10)
(@) (y+7y B Lz M (M) (x—5)(x+8) (8) (z+6)(z—7)
(9) (a+3) 0 (zx—9)
! CED)
(§37) | (1) z*+[7]z+ 10
(1) z*4+4r+4=x'4+2%x2xx+2 IR
=(x+2) ‘ BAT10, FIDS7 &% % 2 8z, 2. 5
} +T7x+10=(x+2)(x+5)

— 18 — — 13 —




K] L33 EHSE
TR 1| . p.22
(1) 2(x+2)(x£3) 2) 5(a+2)(a—3)

N

—3(r—2)(x+4)
2(a+5)*
4(1+p)(1—p)
a(z+y)(x—y)
2a(b—3)
2¢(y+7)(y—17)
—4b(a+4)(a—5)

(
5(x+4)(x—4) (
4(m~+3)(m—5) (6

(
(

oo

3(m+5)(m—5)
alx+1)(x+5)
y(x+3)(x—7)
z(x—2)(x—6)
5ad(m—1)(m+2)

= =
d e

=
B

=
ko2

|
97 + 10z + 12 = 2(2* + 52 +6)
=2(x+2)(x+3)
5a¢°—5a—30=5(a*—a—=6)
=5(a+2)(a—3)
5r*—80=5(x*—16)
=5(x+4)(x—4)
— 32— 6r+24=—3(x*+2x—38)
=—3(x—2)(x+4)
dm? —8m — 60 =4 (m*— 2m — 15)
=4(m—+3)(m—5)
2a* + 20a + 50 = 2 (a* + 10a + 25)
=2(a+5)
3m*—75=23(m*—25)
=3(m+5)(m—>5)
4—4p*=4(1—p*)
=4(1+p)(1—p)
ax’+ 6axr+5a=a(x*+ 6x+5)
=a(x+1)(x+5)
ax*—ay*=a(x*—y*)
=a(z+y)z—y)
2y —dxy — 21y =y (2* — 4x —21)
=y(x+3)(xz—7)
2ab* — 12ab + 18a = 2a (b* — 6b+9)

=2a(b—3)
=8+ 12r=x(x*—8x+12)
=zx(x—2)(x—6)

2xy* — 98z = 2x (y* — 49)

=22 (y+7)(y—7)

(15 5am*+ 5am —10a =5a (m*+m — 2)
=ba(m—1)(m+2)

16) —4a’b+4ab+80b=—4b(a*—a—20)
=—4b(a+4)(a—5)

TR 2 | p.23
(1) (2xr—1) (2) (3a+5)*
(3) (9a—2)* (4) (x+4y)*

(7) (3z+8)(3xr—8) (8

(9) (2z+5y) 10) (30—% )

19 2y(2x+3z)(2x—3z)

)
)

(5) (6x+1)(6x—1) (6) (2x+5)(2xr—5)
) (4a+7b)(4a —Tb)

(1) (1#—%)(1*%) (12 (a-l—%b)(a—%b

)

4 3a(26—1)

#7851

(1) 4r'—4dr+1=2x)—2XxX1X2r+1*
=(2x—1)

(2) 9a*+30a+25=(3a)*+2 X5 X 3a+5*
=(3a+5)

(3) 8la*—36a+4=(9a)*—2X2X9a-+ 2
=(9a—2)

(4) 2*+8xy+ 16y =x"+2 x4y Xz + (4y)
=(x+4y)

(5) 36x*—1=(6x)"—1*
=(6x+1)(6x—1)

(6) 42*—25=(2x)' 5’
=(2x+5)(2xr—5)

(7) 9x*—64=(3x)"—8*
= (3z+8)(3xr—8)

(8) 16a*—49b*= (4a)*— ()’

= (da +7b)(4a —7b)

(9) 4x*+ 20xy + 25y° = (22)* + 2 X 5y X 2x + (5 )’

=(2x+5y)

10 9a2—3ab+%b2:(3a)2f2 x%bx Sa+<

12 a*— l6—1)2 =qgf— (ib>
5 5

1

2

o)

13 8x*y — 18yz* = 2y (42> — 9z%)
=2y (2x+3z)(2x — 32)
14 12ab*— 12ab + 3a = 3¢ (4b* — 4b + 1)

=3a(2b—1)*
R 3 | P.24
1) (a+b+1) @) (x+y+2)(x+y—5)

3 (x43)x—5) @ (a+1)(a+7)

) (x+y)(a+3) 6) (a+b)(x—2y)

7 Bx—2)(x+4) 8) (a+b+3)a+b—23)
) (x+y)m—n) 10 (a—b)(x—23)

) (a—3+b)(a—3—b)

2 (a+b+c)at+b—rc)

Y (z+D)(y+1) @ (a—1)(b—2)

[ 5]

(U (a+bY+2(a+5)+1° |
IR L Jarbmarng
=(A+1)
=(a+b+1)

2) (x+y)—3(x+y)—10
e L Jeremaesg
= (A+2)(A—5)
=(x+y+2)(x+y—5)

3) (x4+1)r—4(x+1)—12
A 13 :ll'-f-l:/lk:b‘<
=(A+2)(A—6)
=(x+1+2)(z+1-6)
=(x+3)(x—5)

4) (a+3)+2(a+3)—38
s o Jers=arsg
=(A—-2)(A+4)
=(a+3—-2)(a+3+4)
=(a+1)(a+7)

(5) alx+y)+3(x+y)

s jx+y:A<‘:£<
=A(a+3)
=(z+y)(a+3)

(6) x(a+b)—2y(a+b)

o :]a+b:Atjs<
=A(x—2y)
=(a+b)(x—2y)

(7) (2x+1)—(z—3) 2z +1=4,
=A*— B jx-3:3k2‘5<
=(A+B)(A—B)
:(2.r+1+.r~3)(2x+1*1'+3)
=(3r—2)(x+4)

(8)_;(itz)_9 :JLZ+1):A EBL
=(A+3)(A—23)
=(a+b+3)a+b—3)

9) m(x+y)—nxr—ny
_Z;l__::) nzty) :’.I‘+y:Ati’5<
=A(m—n)
=(x+y)m—n)

10 x(a—»b)—3a+3b
:jjia%[: Hemh) L Ja—b=arng
=A(x—3)
=(a—0b)(x—3)

0 & —6a+9—p*

;:l*i) ’ L Ja—s-aesg
=(A+b)(A—b)
=(a—3+b)(a—3—0b)

12 @+ 2ab+b*— ¢
;rii)_c L Jaro=aesg
=(A+c)(A—c)
=(a+tb+c)a+b—rc)

W zyty+x+1’

:Z;r:Al)Hlﬂ) JEEZSEVES-K
=A(y+1)
=(x+1)(y+1)

) ab—b—2a+2

:Zia—zl; Aa—14 L Jam1=aesg

=A(b—2)

=(a—1)(b—2)




EEETS

1| P.25
(1) 3(x+3)(x—5) (2) 4(a—4)(a+5)

(3) 5(m+5)(m—5) 4) 2(4+y)4—y)

(5) alxr—4)* 6) 2r(y—2)(y+5)

(7) 8a(b+3)(b—3) (8) —4b(a+1)(a—3)
[#2 &)

(1) 8x*—6xr—45=3(x*—2x—15)
=3(x+3)(x—5)
(2) da*+4a—80=4(a*+a—20)
=4(a—4)(a+5)
(3) 5m*—125="5(m*—25)
=5(m~+5)(m—5)
(4) 32—2y*=2(16—y*)
=2(4+y)4—y)
(5) ax’—8ax+16a=a(x*—8x+16)
=q(x—4)
(6) 2xy*+ 6xy — 202 =2x (y*+ 3y — 10)
=2x(y—2)(y+5)
(7) 8ab*—27a=3a(b*—9)
=3a(b+3)(b—3)
(8) —4a*b+8ab+12b=—4b(a*—2a—3)
=—4b(a+1)(a—3)

-

Tzv P.25
7 )
(1) (8r+1) (2) (2a—3)
(3) (ba+1)(ba—1) 4) (92 +8y)(9x —8y)
n 2
(5) (4o —3y)* (6) <2m,7>

(7) 3a(2b+c¢)(2b—c) (8) 2x(3y—2)

(§:59 |

(1) 92+ 6xr+1=(8x)*+2xX1X3x+1*
=(8x+1)

(2) 4a*—12a+9=(2a)*—2x3 X 2a+ 3*
=(2¢—38)°

(3) 25a*—1=(5a) — 1
=(5a+1)(ba—1)
(4) 8lx*—64y*= (92)*— (8y)*
= (92 +8y)(9x — 8y)

(5) 16x* — 24xy + 9y* = (4x)* — 2 X 3y X 4z + (3y)*
= (4x — 3y)*

2 n \
(6) 4m2*2mn+%:(2m)2~2><%><2m+<7>

-fon-3)

(7) 12ab* — 3ac® = 3a (4b*— ¢?)
=3a(2b+c)(2b—c¢)
(8) 18xy® — 24xy + 8x = 2x(9y* — 12y + 4)

=2x(8y —2)?
3] P.25
1) (x+y+3)x+y+4) (2) (a+b—2)
3) (x—1)(x—11) (4) (a+1)(b+3)
5) (x+y+4)(x+y—4) 6) (3¢+4)(a—6)
(7) (z+2+y)(x+2—y) 8 (r+2)(y—2)
§: %D |

(1) (z+g)+7(z+y)+12 r+y=A LB
=A*"+T7A+12

=(A+3)(A+4)

=(x+y+3)(x+y+4)

(2) (a+b)—4(a+b)+4 :|a+b:A<EJB<

=A*—4A+4

=(A—-2)

=(a+b—2)

(3) (x—5)—2(x—5)—24 :|x*5:A<1:2’3<

=A*—2A—24

=(A+4)(A—6)

=(x—1)(xr—11)

(4) b(a+1)+3(a+1) jaH:Atm

=pA+3A

=A(b+3)

=(a+1)(b+3)

(5) (x+y)—16 .
r+y=AtB<

=(A+4)(A—4)

=(zx+y+4)(x+y—4)

(6) (2a—1)*—(a+5) 2a—1=A,

= A'— B :‘a+5:Bkﬁ<

=(A+B)(A—B)

=(2a—1+a+5)(2a—1—a—5)

=(8a+4)(a—6)

(7) +dr+4—y

::jj)—y JEESSEVEEY
=(A+y)(A—y)

=(x+2+y)z+2—y)
(8) xy+2y—2r—14

;ijj;:ﬁuﬂ) JEEISEVET:
=A(y—2)

=(zx+2)(y—2)

4 EBETTYTE

EETEE 1| P.26
(1) 1000 (2) 840
(3) 1521 (4)" 9025
(5) 896 (6) 3599

[# 5]

(1) 55" —45% = (55 +45) x (55 — 45)
=100 X 10 = 1000
(2) A7* — 37" = (47 + 37) X (47 — 37)
=84 X 10 = 840
(3) 39*=(40—1)
=1600 —80 + 1=1521
(4) 95°=(100—15)*
= 10000 — 1000 + 25 = 9025

(5) 28 X32=(30—2)x(30+2)

=900 — 4 =896

(6) 59 X 61=(60—1)x(60+ 1)

= 3600 — 1= 3599

(EXGEA 2 |

P.26

(1) —20 (2) 3600
(3) 25

[#2 3]
1) (x—5)—(x—38)(x—6)=—147
==21+7=—-20
(2) 2’—6x+9=(x—3)
=(63—23)
=60*= 3600
@) @=b"=(a+b)(a—0b)
:(6.25+3.75)X(6.25—3.75)
=10X2.5=25

ETE] 3

P.27

S=(b+2a)(c+ 2a) — be
=4a*+ 2ab + 2ac (D
I=(b+a)x2+ (c+a)x2
=4a+2b+ 2c
L7285 T, al=a(4a+ 2b+ 2¢)
=4a’+ 2ab+ 2ac -2
®, @&y, S=w




mn po7 | (8 85°—2x385x25+25"= (35— 25) [_iﬂ P.29
=10*=100 : nd P29
(1) MEWHOEKEnTbE, REVWTOEK ) ' (1) 32DRFBI/HTCHiki2ERD &, ((1) RO A b T L. 30
En+leFEIND, T ‘ @ _— B ) gL o o ag;‘igmz)o : B, n—1 n,
‘mfs' qzﬁ?imf’ o ‘ =ab—d'tacta’+ad ZOLE, REVHO2HOBABAZ VSO
nw+nF1)y=w+n+2n+1 (1) —211 (2) 40000 =ab+ac+ad e (D) O O E DU
=2n't+2n+1 (3) 1600 (4) 5.6 EJAl £:<b—i)+c+(i+d> n(nJrl)*n(n;l): ‘v u—n’
=uln+l)xi+l 6) + (6) 520 cm’ ’ ’ o o
7, Z ORI 2 DO OO 2 I ! B _ Shietd . o
L B2 7B A L B 2Ehe, al=ab+actad @ (2;:0;*.2:z%fiﬁz?hk#two ;
() WIROWEE R ETHE, 300BE n—L n | | (1) (245)@—5)— (xt8)(z—3)=—5z—1 ©. @LY, S=as o8 BONS VR nETRE, 4DORE,
n+1&EK&EN2, sy (2) 2200 MEEDLELE 1OOMIZRLHD, ;fv@n;; i;zwa&i%i:né
ok E, BROBOV ERNOBDYT O S S:axx2+z<§+a)1ﬂ<%>z ;ﬁmg%m\;;igziszmmxbd\émﬁm
ES (2) a*+10a+25=(a+5) =2ar+raxr+ra® @ (%%\-2)(n+‘3;‘—;¢(n+1)
(nt1)=(n=1F = (195 +5)" OS2 LN OB, (2+a) m T b Bt 6 —
=n*+2n+1—(n*—2n+1) = 200% = 40000 e  dnbf D
=4n i (3) (2x—3y) — (3x—2y)"=— 52"+ b5y° I=xX24+n(x+a) _ 7. 4 oDKOAIE
ZhE, OO 4 BEIZEFEL V. =5(g+2)g=x) Y T n+(n+1)+(n'+2)+(n+3)
=5x(18—2)x(18+2) L7zhoT, al=a(2x+rmx+ra) =g B F D)
SIE o =5 x 16 X 20 = 1600 =%z + rax + ra* @ D, @LY. K202 HOBS /bSO
1: e 1| @ =@t ) O BER S=uf 2BOBE DV, b ED 4 >ORORNSE
ﬂ} i | iEE'E = } =(24+2%02)%(24—2%0.2) L,
[1] P28 | (5 a'+4z :+2'8-.)X,2_.5'6 W RO E RO 1 BRI,
' y+dy=(z+2) 2n(2n+2)+1=dn*+4n+1
2 1\
| (1) 3600 (2) 1800 {5 (-5 ( ) =(@n+1y
‘i‘ 3) 50 @) 2704 :<%)—:L {owﬁﬁzn. 20+ 2 ORINCH 5280 20 + 1
| : 3/ 9 Eib, ThREZOFHICELY,
| (5) 9604 (6) 1591 (6) (65+2)"— (65— 2)* = 67" — 63 AT I—
oo . = (67 +63) x (67— 63) (27"’1‘#1)(2%\#"1):4mn+2m+2n+1
R =130 x 4=520 (cm?) o (ommtmin) 41
(1) 68*—32*=(68+32)x(68—32) Zmntm+n SEHIED S, ZHIHFRTH 5.
=100 % 36 = 3600 ;
(2) 45*—15°=(45+15)x (45— 15) !
= 60 x 30 = 1800 | .
(3) 7.5:—2.5%=(7.5+2.5)%(7.5—2.5) |
=10X5=50 |
(4) 59:=(50+2) |
= 9500 4 200 + 4 =2704 . 4
(5) 98 =(100—2)*
= 10000 — 400 + 4 = 9604
(6) 43 x 37 =(40+3)x (40—3)
— 1600 — 9 = 1591
(7) 78 x 82=(80—2) X (80+2)
= 6400 — 4 = 6396
e ' — 19 —




1 P.30
(1) 124*+ 21ab (2) —8x*+ 3bxy
(3) —12m*—2mn (4) ldzxy —21x°
(5) 6a°—3ab+ 12a (6) 2xy—6y®+ 10y
(7) 2x*—3zy (8) 4a*+.10ab
[# 5]
(1) 8a(4a+7b)=3a X 4a+3a X7
=12a*+ 21ab
(2) (22— 9y) % (—4x)=2xx(—4x) — 9y X (—4x)
=— 8z + 36xy
(3) —2m(bm+n)=—2mX0bm—2mXn
=—12m* — 2mn
(4) Tx(2y—38x)=Tx X 2y—Tx X3z
= 14xy — 21x°
(5) 3a(2a—b+4)=3ax2a—3axb+3ax4
=6a*— 3ab+ 12a
6) (r—38y+5)X2y=xX2y—3yXxX2y+5X2
=2xy — 6y° + 10y
1 1 1
= r(8r—12y) =— xr——x X 12
(7) 4.1(81 12y) 4.r><81: 1T Y
= 22" — 3xy
2 2 2 i
(8) Ea(l()a + 25b) :Ea X 10a +§(1 X 25b
=4q* + 10ab
2 P.30
(1) 2x+3 (2) 3a—2b
(3) —3r—2y (4) 4a—5
(5) 2ab—+3b+4 (6) 3xr—9y
(7) 10a — 15b (8) 36x+ 24
[ |

4 1
(1) (6x*+9zx) + 3z = (62" + 9x) X W

=2r+3
) 1
(2) (12ab—8b*) +4b = (12ab — 8b*) X m
=3a—2b

(3)

(152% + 10xy*) ~ (— bxy)

:(151‘”y+101'y3)><<~ 1 )

Sxy

=—3xr—2y

(4)

(8)

(24a*b — 30ab) + 6ab = (24a*b — 30ab) X *6(117)
=4a—5
(4a’b + 6ab + 8a) + 2a = (4a’b + 6ab + 8a) X ’21{1(
=2ab+3b+4
(22— 6°) + 2y = (20y — 6y") X
3 2y
=3x— Y
(8a*—12ab) +ia: (8a*—12ab) x =L
5 4a
= 10a — 15b

N | .5 5o
(30x*y + 20y ) = oY (30x%y + 20xy) X Esg

= 36x + 24

P.30

(3) 3x*+22xr—16 4) 6p*+pg—q

1) xy—4x+5y—20 (2) 2ab+12a—T7b—42

5) 2x*—bxy—12¢° (6) —ba*+13ab+ 6b°
7) 3x*—xy+13x— 3y +12
8) 8a’+ 2ab—8b*+ 2a+4b

() |

(6)

)

S

(8)

(3x—2)(x+8)=23x"+24x — 2x — 16
=322+ 222 — 16
(2p+q)(3p—q)=6p°—2pg +3pg — ¢
=6p°+pg—g°
(x—4y)(2z + 3y) = 22* + 3xy — 8xy — 124
=2x® — bxy — 12¢°
(5a 4+ 2b)(—a + 8b) =—5a*+ 15ab — 2ab + 6b°
=— 54"+ 13ab + 60°
(x+3)(B8xr—y+4)
=x(8x—y+4)+3(8x—y+4)
=8x*—xy+4x+9x—3y+12
=3’ —xy+18x—3y+12
(8a—4b+2)(a+2b)
=3a(a+2b)—4b(a+2b)+2(a+2b)
=3a’+ 6ab — 4ab — 8b* + 2a + 4b
=3a*+ 2ab—8b*+ 2a + 4b

4 P.31
(1) x*+3xr—28 (2) a*—4a—45
(3) 2”4+ 8xy + 15y* (4) 4x*—20x+21
(5) a®—26a+ 169 (6) 9x° + 36x + 36
(7)  16a® + 24ab + 9b* (8)  25x* —20xy + 4y°
(9) x*—64 (10 144 — m*
1) 9x*—49 12) 25a* — 64b*

13 x*+2zy+y'+x+y—20

14 a*+ 2ab+ b*— 36

5 a*—2ab+b*+6a—6b+9

16) 4x*+ 4xy + y*— 162 — 8y + 16

65 |

(1) (z=)(z+T) =2+ (—4+Dz+(—4)x 7
=x'+3x—28

(2) (a+5)(a~9):az+(5~9)a+5X(—&))
=a*—4n—45

(3) (x+5y)(x+38y)=x*+ (5y+3y)x+ 5y X 3y
=x°+ 8xy + 15¢°

4) (2x—3)(2x—7)
=2x)+(—3—7)X2c+(—=3)X(=T7)
=4x*—20x + 21

(5) (a—13)>=a*"—2X13Xa+13*

=a'— 26a + 169
(6) (8x+6)'=(8x)*+2X6x3zx+6
=9x* + 36x + 36

(7) (da+3b)' = (4a)*+2 X 3b X 4a + (3b)*

= 16a’* + 24ab + 9b*

(8) (5x—2y)'=(5x)*—2 X 2y X 5x+ (2y)’

= 252" — 20xy + 4y*

9) (x+8)(x—8)=a*—8?

=x'—64
10 (12—m)(12+m) =12* — m?
=144 — m*

1 (Bzx+7)(8x—7)=(82)'—T7

=9x*—49

12 (5a+8b)(5a—8b) = (5a)*— (8h)

= 25a° — 64b*

B (x+y—4)x+y+5) j.r+y=X<‘:;fo‘<
=(X—4)(X+5)
=X+ X—20
=x*+2zy+y+ar+y—20

W (a+b+6)a+b—6)
1 +b=X & BKL
— (X+6)(X—6) j”

=X*—36
=a’+2ab+ b*— 36
1B (a—b+3)
‘ ja-b:/\’ka’a‘<
:(/Y+3)1
=X’ +6X+9
=a'—2ab+b*+6a—6H+9
16 (2x+y—4)*
4 2r+y=X&5B<
=(X—4)
=X*—8X+16
=4x*+4xy +y* — 162 — 8y + 16

S P.31
f =
(1) 22*°—Tx (2) 3x+1
(3) 15x+ 33 (4) 9a—46
(5) x*+ 10xy + »* (6) 8x'+18
(7) 2a*— 6ab+ b* (8) —6a—2 J

%]

(1) (z—=2)+(x+1)(x—4)
=x'—4dr+4+x2*—3r—4
=22"—"Tx

2) (z+3)(x—3)—(x+2)(x—5)
:.rz—ﬁ)‘*(xz—&r‘l())
=r'—9—x*+3xr+10
=3z+1

(3) 2(x+4)—2r—1)(x+1)
=2(2"+8x+16)— (22°+2x—2—1)
=22+ 162 +32— 22" —x+1
= 15x + 33

(4) (a—5)a+6)—(a—4)
=a*+a—30—(a’"—8a+16)
=a*+a—30—a"+8a—16
=9a — 46

(5) 3(zx+y)—2(z—y)
=3(x*+ 2zy +y*) — 2(2* — 22y + y*)
=3x*+ 6y + 3y* — 2x* + 4dxy — 2u*
=x*+ 10xy + »*

6) (25+3V+(2z—3)

=4+ 122 +9+4x* — 122+ 9
=8x*+ 18




(7)) (a—3b)a+b)+(a—2b)
=q*— 2ab — 3b* + a’ — 4ab + 4b*
=2a* — 6ab + b’

(8) (3a+1)(3a—1)—(8a+1)
=9¢°—1—(9¢*+6a+1)

=9¢"—1—9a"—6a—1

=—6a—2
6 P.32
(1) 2a(x+2y) (2) dy(x—2y)
(3) 5m(2x—3y) (4) dab(3a+4b)
(5) Txy(x—3) 6) alr—y+2z)
(7) 2a(2a—4b+3) (8) 3xy(x+2y—3)
7 P.32
(1) (z+5)(x+7) 2) (r+4)(x—8)
(3) (a—5)(a—10) 4 (y—7)y+9)
(5) (x+2y)(x+7y) 6) (a+3b)(a—6b)
(7) (x+8)* (8) (p—11)*
9) (8a—1)* 10) (2r+5)*
1 (x+7y) 12 (4.1%%)Z
13 (x+9)(x—9) 14 (6+p)(6—p)
B (22+7)(22—17) 16 (9a+1)(9a—1)
7 (5x+ 8y)(5x—8y)
. N \g,, "
(18) <3m+ 3 ><3m 3 )
[ &5]
(1) z*+[12x+ 35

il i
At 35, MAT12127% 25U, 5, 7
r+ 120 +35=(x+5)(x+7)
(5) x”+.><‘r+ 14y*
F it
FEAS 14y®, RS9y 127 % 230, 2y, Ty
2+ 9zy + 14y* = (x + 2y)(x + Ty)
6) o’[=38] % a/=185° ’
it i
TEAS —18b%, FIAY —3b 127 5 2X1%, 3b, —6b
a*— 3ab—18b*= (a + 3b)(a — 6b)
(7) x*+16x+64=2"+2%x8Xx+8&
=(x+8)

(9) 9a*—6a+1=(3a)’—2xX1X3a+ 1
| =(3a—1¢
1) 2%+ oy +49%° =2+ 2 X Ty X 2+ (Ty)*
=(z+7y)

0 N s Ll: 2« Y . iz
12 160°—day +4- = (42) z><2><4.1+(2)

—(4p—YY
(4"“ 9 )

13 z*—8l=x"—9
=(x+9)(xz—9)

15 4r*—49=(22)'—7
=(2x+7)(2x—7)

16) 8la*—1=(9a)* —1*
=(9¢+1)(9a—1)

17 25x*— 64y* = (5x)*— (8y)*

= (5x + 8y)(5x — 8y)

(18 9m* — % =(3m)" — ( I—; >

—(a,, L \q, "
—(5;111— 3 )(3;}1 3>

8 P.33

(1) 2(x+2)(x—5) (2) 5(a+1)(a+2)
(3) 3(x+3)(x—3) 4) —4(a—1)y

(5) 7(m+1)(m—2) 6) 6(x+uy)

(7) 5(1+m)(1—m) (8) 3(2¢+5)(2a—5)
9) a(z—4)(x—8) 10) 2a(x+2y)(x—2y)
1) 3a(b+2)(b—4) 12 z(x+2)(x—17)
13 36(2¢+3)(2¢—3) M4 3Sx(y—2)

[l
(1) 22*—6xr—20=2(x*—3x—10)
=2(x+2)(x—5)
(2) 5a*+15a+10=5(a*+ 3a+2)
=5(a+1)(a+2)
(3) 8x*—27=3(x*—9)
=3(x+3)(x—3)
4) —4a*+8a—4=—4(a"—2a+1)
=—4(a—1)°
(5) Tm*—Tm—14=7T(m*—m—2)
=7(m+1)(m—2)
(6) 6x*+ 12xy + 6y°=6(x*+ 22y + y*)
=6(x+y)’
(7) 5—>5m*=5(1—m*)
=5(1+m)(1—m)

(8) 12¢°—75=3 (4a* — 25)
=3(2a+5)(2¢—5)
9) ar*—12ax+ 320 =a(x* — 121 + 32)
=a(x—4)(x—28)
10 2ax’ —8ay* = 2a(x* — 4y*)
=2a(x+2y)(x—2y)
1) 3ab*— 6ab— 24a = 3¢ (b* — 26 — 8)
=3a(b+2)(b—4)
12 2'—52*— ldr=1x(x*—5r—14)
=x(x+2)(x—7)
13 12a°6— 27 =3p (4a*—9)
:30(2(1—%3)(20*3)
14 Bxy*—12xy + 127 = 3r(y*—4y+4)
=8z(g=2)

P.33

1) (x+y—38)z+y—5)
(2) (a*[)+4)((l‘[)*6)
(3) (x+1) 4) (z—y)(m+2)
(5) (x+y+8)(x+y—238)

6) (a+b+5)(a—b+3)

(7)) (x—4+y)z—4a—y)

(8) (d*[)‘f’ZC‘)((Z*/)*ZC)

9) (@—38)(b—2)

10 (x+2)(y—3)

(%]
D (x+y)—8(z+y)+15
2 B 1 L Jeru=aes¢

=(A—-3)(A—5)
=(r+y—3)(x+y—5)
2) (@a—b)y—2(a—b)—24
=A"—2A—-24
=(A+4)(A—6)
=(a—b+4)(a—b—6)
(3) (.27—4)2+1()(.1'—4)+25
=A"+10A+ 25
=(A+5)
=(x+1)
@) m(z—y)+2(x—y)
=mA+2A :}I_]/:Ak£<
=A(m+2)
=(@x—y)m+2)

a—b=A kB

T—4=A LB

(5) (z+y) —64
= A’— 64 rty=AtB<

=(A+8)(A—-38)
=(x+y+8)(x+y—38)

6) (a+4)—(h+1) a+4=A,
= At— B b+1=B¥tB{
=(A+B)(A—B)

=(a+4+b+1)a+4—b—1)
=(a+b+5)(a—b+3)
(7) x*—8x-+ 16 — »*

:(T‘Zl)‘/‘y’)
’ r—4=At B
:A_’_y;’ 2 4 A—j <

=(A+y)(A—y)
=(z—4+y)(x—4—y)
(8) a*—2ab+ b*— 4¢*

=(a—b) —4¢?
:A:*(ZC)Z a—b=A &«13<

=(A+2c)(A—2¢)
=(a—b+2c)(a—b—2c)
(9) b(a—3)—2a+6
=b(a—3)—2(a—3)
—bA—24 :’{1*3:/{&%%
=A(b—2)
=(a—3)(b—2)
0 xy+2y—3r—6
=y(x+2)—3(zx+2)
A 34 :J.r+2:/l EBL<
=A(y—3)
=(z+2)(y—3)




(18 | BIE LR P.35 P.36
50 - EXRRE EECHEEY ‘ (
(1) 2r*—6z+8 (2) —10x—24 (1) 3(x+4)(x—6) (2 4(p+5)(p—5)
P.34 (3) 8xr—37 (4) 18x*—12x+8 (3) (bxr—4y)* (4) (3a+8b6)(3a—8b)
: (5) 2a(3b+2)(36—2)
© s @ EM 0 ® actad+tbetbd (1) 2la*— 35ab (2) —2r'—9z , [z 5tl 6) (a+b—3)a+b—5)
@ z+(a+b)x+ab ® z*+2ax+a’ (3) —2x+4 (4) 8xr—12y W (@E=8r+ (z-Dl+ D =a"—6z+9+'~ 1 (7)) (x—y+T)Nx—y—7)
® 2'—2axr+a’ @ z2—a S =2z’ —6r+8 8) (a—3)(b—4)
[% 5] , (2) (z—4)(z+2)— (x+4) J
P34 (1) 7a(3a—5b)=Ta % 3a—"Ta X 5b =x'—2r—8—(2*+8x+16) Izl
- — 914" — 35ab =1r*—2r—8—x2"—8xr—16 (1) 32" —6x—72=3(x'—2x—24)
® Wi © W (2) 8xr(r—2)—2x(5xr+38)=38x"—6x—5x*— 3z =—10xr—24 =3(x+4)(xr—6)
© m(a+b) @ (z+a)(z+b) @ (x+a) ' =2 =9z 8 2(z=5)(z+4) — (z—38)(2r+1) (2) 4p*—100=4(p*—25)
L yo s =2x"—2x—40 — 22+ 5x+3 (3) 2bx* —40xy + 16y* = (5x)* — 2 X 4y X 5z + (4y)*
= — A : = 9
e P.34 . O N Bl ' = (5r—dy)
. (4) (6zy —9") + -y =(62y —9y") X 5 - (4) (Bz+1)(8x—1)+ (2x—3)’ _ (4) 9a*—64b*= (3a)*— (8b)*
® r+y ® A*+4A+3 =8x— 12y =9x'—1+4x*—122+9 ° = (3a+8b)(3a—8h)
m A+1 ® A+ 3(@LBINEART) , =182"=12x+ 8 (5) 18ab®—8a=2a(9b*—4)
©® zr+y+1l @ z+y+3(OQL@QIIEARFT) @ﬁ P.35 ‘ =2a(3b+2)(36—2)
\ £ B 6) (a+b)—8(a+b)+15
P.35 Y ) 7 ja+b:A&b‘<
(1) 2xy+5x—8y—20 (2} &*+2x—63 - . =A*—8A+15
P.34 (3) 9a*—12a—32 (4) 49m* —42m+9 (1) 6x(xy—2) 2) (m—7)(m—8) =(A—-3)(A—5)
(5) 4x*—81y* (6) a*+ 2ab+b*—49 _ (3) (a+6)(a—10) (4) (a_%>3 | ):§a+b)l—‘3)(a+b~5)
@) 65 @ 15 @ 80 @ 50 7) (x—y)*—49
- - B (5) (x+20)(x—20 (6) (0.6+m)(0.6— . rmy=AcB6<
(BEOBMEAFT) B 4000 (%51 Lt i =AT-49 ]
@ 5 @ 75 @® 70 29 4900 (2) (x+9)(z—7)=2*+(9—TNx+9x(=7) ‘ [ | =lA+ATA—T)
=2+ 22— 63 =(x—y+7)(zx—y—
2+ 2z @) m=Tem + 56 (x—y+7)x—y—17)

(3) (8¢a—8)(3a+4) il i (8) ab—3b—4a+12
=(3a)'+(—8+4)x3a+(—8)x4 BAS56, FIAT—15127%% 28Uk, —7, —8 =b(a—3)—4(a—3) jr,%:/“m
=9a"—12a — 32 m* —15m +56 = (m —7)(m —8) =0A—44

—3)y= 29X 3XTm+3 : =A(b—

() (Tm—=3)"=(Tm)' =2 %3 XTm ‘ (4) az—3a+i:(f*2x‘i><a+<‘i> Als—4)

— 49m* — 42m + 9 | 4 2 2 =(a—3)(b—4)

(5) (2x+9y)(2x—9y) = (2x)*— (9y)* :(0*§>

= 4z* — 81y ’ (5) 2 —400 = 2* — 20?
=(X+7)(X—-17) ‘ (6) 0.36 —m*=0.6>—m*
= X* =40 =(0.6+m)(0.6—m)
=a’+2ab +b*—49 1
— 24 — — 25 —




P.36
(1D 600 2 4891

(2D 189 @ 40000

(3) 28

4) ADFB ED 25em? 727 K& Wn»
(5) 3 oDt HUL, Bhin 2fioT, 2n—1,
2n+1, 2n+3&FIN5D,
CDIODHFHDF SO EZMR 5 L,
Cn—1)+Cn+1)+2n+3)>+1
=4n*—4dn+1+4n*+4n+1
+4n'+12n+9+1
=12n"+12n+ 12
=12(n*+n+1)
'+ VEERZ2S, S 12052 7% %,

[# 3]
(1D 35" —25"=(85+25) % (35 —25)
=60 X 10 =600
@ 73x67=(70+3)x(70—3)
=4900 — 9 = 4891
2D (z+2)(x—38)—(x—1)=zx—7
=196 —7=189
@ z2*+8x+16=(xr+4)
= (196 +4)*
= 200* = 40000
8) @*—b*=(a+b)(a—0b)
=8 X 3.5 =28
(4) A OHifEE, 2*cm?
B olfifElE, (x+5)(x—5)=2"—25 (cm?)

B scoome@ o - o
2

(1) a'+1

(2) 10x*— 5lxy + 8z + 56y* — 28y
(3) 4a*+4dab+b*—9

4) 2+ 4xy —}j 4y* — 8x — 16y + 16
(5) 2*—2xy+y*—x+y—56

(6) 9a*—b*+20—1

[ 35]

(1) (a*—a+1)(a+1)
=a*(a+1)—ala+1)+(a+1)
=d+tad—ad—ata+l
=a'+1

(2) (22—7y)(bx—8y+4)
=2x(br—8y+4)—T7y(5x—8y +4)
= 102° — 162y + 8z — 35y + 56y* — 28y
=10x* — 51xy + 8z + 56y° — 28y

(3) (2a+b+3)(2a+b—3) jZ(z%—/}ZX&}S(
=(X+3)(X—3)
=X*—9
=4a*+4ab+b*—9
Lz 2y—ap j.Z'-FZLz/:(\’:‘:B(
=(X—4)
=X*—8X+16
=x’+4xy +4y* — 8xr — 16y + 16
(5) (x—y+7)x—y—28) j.t-yt)(&)b%
=(X+7)(X—-28)
=X*—X—56
=x'—2xy+y'—x+y—>56
6) (Ba+b—1)B8a—b+1) :belzX&ib%
= (8a+ X)(3a¢— X)
=9*— X*
=9a*—(b—1)*
=9*—b"+26—1

E P.37

(1) —5a*+ 28ab + 1252
(2)  18zy — 34y*

[ 35]

(1) 4(a+2b)"— (8q— 2b)*
=4(a’+ 4ab + 4b*) — (9a* — 12ab + 4b*)
=4a’+ 16ab + 16b° — 9a* + 12ab — 4p*
=—5a’+ 28ab + 12b*

(2) (8x—5y)(8z+5y) — 9(x—y)
= 92" — 25y* — 9 (x* — 2xy + y*)
=92° — 25y% — 9z + 18xy — 9y*
= 18xy — 34y*

B P.37

(1) —5x(a+2b)(a—2b)
(2) (a+66)(a—8b)

B) (x+4)(x—4) 4) (a—10)
5) (z+y)x—y—1)

6) (a+b+1)(a+b+2)

(6D |
(1) —ba*r+ 200°x = — bx (a* — 4b?)
=—bx(a+2b)(a—2b)
(2) @[ 28] x @ — 485" |
il i
MDY —480°, A —2012% % 250, 6p, —8b
(12—2ab~48/)3:(a—Hi/))(a—Sb)
B) 2x(x+4)—(z+4)
‘ rtd=A &t
=2xA — A*?
=A(2x—A)
=(x+4)(x—4)
(4) (a—3)3~14(a~3)+49
. a—3=A ¢t B<
= A’ 14A + 49 j
=(A—7)
=(a—10)"
6) —y'—x—y
=(z+y)z—y)— (2 +y)
Zt+y=A&B<¢
=A(x—y)—A
=A(x—y—1)
=(x+y)z—y—1)

‘E-&

(6) @*+2ab+b*+3a+3b+9

=(a+b)+3(a+b)+2
o atb=AktB<
=A"+3A+2

=(A+1)(A+2)

:((1+1)+1)((1+b+2)

n P.37
[

(1D 24.9984 @ 94.2
(2) 9
(3) —150

R
s&ll

1
(D 5.04 X 4.96 = (5 +0.04) x (5 — 0.04)
= 25— 0.0016 = 24.9984
@ 6.5'X3.14—3.5!x 3.14
= (6.5 — 8.5%) X 3.14
=(6.543.5) % (6.5—3.5)x 3.14
=10X3X3.14=94.2
(2) 9x*+ 12xy + 4y* = (32 + 2y)*
=(83x0.2+2x1.2)
=3'=9
(3) (8x+5y)"— (3x— 5y )*
= 92* + 30xy + 255* — (9x* — 30y + 255°)
= 60xy

—60 x 2 ﬁi)\r
~b()><3><( 5 )=~ 150

5 , P.38

(1) @*+b*=a*+ b* + 2ab — 2ab
=(a+b)—2ab
=(—10)*—2x38§
=100 — 16
=84

(2) a*—2ab+b*=0a*+ b*+ 2ab — dab

= (a+ b)*— dab

=(—10)*—4x8
=100—32
=68




29 10 5°=25 (v21)*=21, (v/26)'=26
E P.38 ﬂ P, 21 < 25 < 26 75H0 5,
— - kot 1 T | VEI < /25 < Y26
Wikt L7z 4 oOARE, n x HREE L Tr, KElro¥kzaltsE, HLhofidat ')1 FETGER eﬁn V21 < 5 <426
+1, n+2, n+3&¥hEL Bitat+7 ATOKZa+8LERENDLND, —up DB P.40 - P.41
n . n , n ’ P
, o2 )2 HEEETOROME, (a+1)(a+T7)=a"+8a+7T —
wt(n 1)+ (e 2+ (nt3) . I 8)—a’+8 ((U(l +2 @ +6 ® +9 ﬁEE’f’»Fu'ii?EB pP.42
=n' i+ 2+ 1+ 0t dnt+4+n'+6n+9 FELEEHTOBOKL, alat8)=a"+8a \ g —_—— :
=4n*+12n+ 14 Lo T 2HDER, Yoy vty v r ) D @, @ @
=4 ) (1) HHEF-..
—(a*+8a) =T . S
=4(n*+3n+3)+2 “ +8a+7\ (&' +8a) § e BT 2D +v5 @ £40.7 ® = % MEFRF -+ @)
n'+3n+ 3 ZEEENS, 4w +3n+3)+2 % WA, T0X) AN E L4 DD] ;;Z p;’ R ; R B -
B L OO AT OROM 3D 4 2 —= 3 13
L Thokt XORY X2 Thh, B b LA F OO, EEEAT i BT < % ® C ® D
L DTREL %%, 4D 6 @ 15 ® 81 )
P38 R B
m P.39 W =2 F"'jfﬂLEE : P 41 ._"'”__n P.43
AB=2r+2a THEHD, A (1)"2, 8 5 7, 11, 13, 17, 19, 23, 29
R A, 2 ODHEKEIL 10a+b, 10a+c EFEIN, 1) V3 <J5 2) VI >y o ,2. 5 7, (.@) ZXJ ] @ Z )
- 3 2 2 (s \’ D >< 2
I G b+c:10:Cﬁ>io (3) 3>48 (4)s 7 <4/50 —— & IxIxT © %13
AM=2r+a TH 51 H, 202 ODEDIEIL, (5) /90 >9 (6) 0.6 <1 B 3x7 @ 3 g
9 ) o°
0=r(2r+a) (10a +5)(102 +c) (7) —y10 > —yII (8) —8<—y63
=9rr+ma =100a*+ (b +c) X 10a + be (9) 2<4/7 <3 10 v21 <5< /26 [#2]
L2#oT, af=a(2rr+a) — 100a = 1000 be | @0 s @ 2) 12 ® 2) 18
oot g @ = 100a(a+1) + be (525t ] 2) 4 2) 6 3) 9
T BT . Hel L7=Ao T, F2U02—Mookic, €0k (3) 3=9, (vV8)=8 2 3 3
) . - % - S ; .
\L' - O 27 tofoke Zhic 1 2MA ORI 9>87h5, v9 >/8 @ 2) 2 ® 2) 42 ® 2)52
2) 10 3) 21 2) 26
% b §>W8 ) 5 )_? ) 13
(4) 7°=49, (y/50)*=50 _ ‘
B P.38 o @ 3) 63 ® 3) 81 ©® 2) 150
.39 7 <50 7 3) 9 5) 25
(1) (a¢+b)em m P.3 S 1‘/— ) : ) :
(2) (XD, AB&ilfE: ¥ 2 LMo, ] | D
T (gt by Tg + mabt b (1) (B) z(x+8) & 12OHNTES>TWT, EE 90 > 81 725, /90 > /81
i e T e ORI > TV RVD b, 90 > 9 RHE
AC % ifE &+ 5ot L, BC &l DROT T > TV - «i EETT 5 | P.43
L b EMomRE 5 b, £oT, (2) 7, 8 13 (6) (4/0.6)'=0.6, 1'=1 (
e B opaR e Bmm Ko Em L 0.6 <1755, 0.6 <yT 1D +21 @ +18
P@ﬁl*ﬁ:%a‘Jrnab-FTb —g @yl .
() (G- | V0.6 <1 2D n=25 v45n =15
=mnab\(cm- o s == AT
T ) (2) 12 % 2200 HARBORBOTET L, (1) Y10 <11 @ n=6 On =9
CE) 1Xx12, 2X6, 3%X4 — Y10 > — /11 L
(1) 5 (2a+2b)=a-+0b(cm) [ JeAsnus, 8) 8'=64, (/63) =63 %5l R
1+12=13, 2+6=8, 3+4=7 JBL > /63 (1D 2% ® ;%
< 0.
8 > /63 7) 49 3) 81
—8<—463 , 7 3) 27
(9) 22=4, 3:=9, (VT )=7 3—2
A<T<Y9ERD, VE<YT <9 - 3247‘(2“2)2
2<y/7<3 _‘2‘13 — 18

— 28 — I — 29 —



(20D 45n 25 B HAAE O 2 Tl HRT L v, (7) 8'=9, (V10)*=10, 4*=16 lﬁzes;u o - |
45=3X5 V45X5 = /3 X5X5 9<10<16 7225, V9 <410 < /16 (D 2) 256 @ 3) 729 0 (=v63) = (=vT) = - I
n="5 = /(3X5Y 3<v10 <4 j;% 3) 243 /T =3 :ﬁ‘

_ JIF ' (8) 7°=49, (V40)'=40, (v50)'=50 2) 3 25‘2; ‘ |
=15" 40 <49 <50 72205 Z)J 3) 9 rﬁ”wﬁﬂﬁﬂ - o ‘f
@ 961 2B B HRKO 2 FITHIUT LV, V40 < /49 < /50 jH 3 (* : |
96=2"X3  96X6 = y2°X3X2X3 Va0 < 7 <450 5 WD V3 @ /7 ® /%@ ,
n=2x3 = (Z°X3) 256 = 2° 799 = 3¢ 20 2v2 @ 3v6 ® 445 J
o = Eja : P.45 =(2') =16 =(3%)2=2972 (3XD % ® % ® V7 “f
=24 . (20D 54n 2% % FABD 2 Tl o duig £ oo, o VT . ¢5§

1) FE¥--@ @, @ 54=2x3 VBAX6 = V/2X3'xX2X3 10 ® 1 © 100

25 emn il 1 w13 ~ VEFTT R

ﬂ = _ﬁ F,,q EE | 22 A @ B l =6 - /T o B

— = ® D ® B s 0 5=v4 xy5

[1] P.44 ] @ 80n 8 B FIAMO 2 2 UL Lo, =VAXE=y20

. 80=2'x5  v80X5 = y2'X5x5 @ 3vV3 =v9 xy3

1D +5 @ +8 ® +10 (4] b 45 n=5 — JITXEY | ) =VIX3=y27
® £+ ® =2 ® +07 = Ve 9 42 =/BxJT
e 0 - (1) 61 73, 97 | —90 —V16x2 =32
B B (2D 2x7 @ 3 ® 2:x3 | FER , 2D V8 =vax2
(3D 3 ® -1 ® 20 ' @ x5 ® 2x7 B SRExT B iR 3 (33 =V4 xy/2 =2y/2
® 6 © % ® —o09 @ 2x3:x5 2XFXT @ 2'x5 | T @ V5a=y9x6
, L S Y
4D 5 @ 17 ® % [ 5] m%ﬂﬂmﬂﬁn - N \/8‘:‘/\/;7;/? 3V6
2D 2) 14 ®@ 3)271 @ 2) 36 =16 X /5 =445
7 3) 9 2) 18 (1) 15 (2) —v26 o JE_AZ T
. =Xz @ /= -
2] P.44 ’ 1 2 3) V70 @ 6 ORIV =
) (5) —10 6) 5 _V2 _J3
(1) V6 <v/T (2) V13 >y11 @ z% ® ;;—;g © ;% (7) V6 (8) —4/10 o /T _37 \47
(3) 4>y15 (4) Y20<5 2) 10 2)14 3) 21 (9) —2 10 3 %V . @ V0.7 =4/ 355
(5) —y8 >—4/13 (6) —6<—4y/30 5 7 7 [% 1 :T7 :1L(7)o
(7) 3<yI0 <4 (8) V40 <7 <450 @ g% ® 2;122 ® ;;f—_g e T
(w21 118 o TR H 5 - -
(3) 4*=16, (/15)*=15 ' ' hg (2) VIBX(-y2)=—y13x2 % mal= x/Sl‘IW © ‘0'0003:@
16> 15 72705, Y16 > /15 { =—V2% ~ V100 = V10000
45> /T5 5] | P a5 G -2 Vs
(4) (4/20)'=20, 5°=25 _ ’ =y/36=6 10 - 7100
20 <2785, V20 <25 (1D +16 @ =+ (6) ‘/‘/@ o
' V20 <5 ‘ (2D n=6, v5in =18 _[—

5) V8 <VI3 @ n=5 v8m =20 @ «/@H—«/?):—\/E
—V8 >—y13 ) 5

(6) 6°=36, (v/30)*=30 ‘ =—y10
V36 > /30 (9) 48 =« r)ﬁ_\/;

6 > +/30  JT—_
—6<—+30

— 30 — — 31 —




TETEE 3 | pay | ERMHEE p.48
(1) 274.4 (2) 0.2744 (1) 2415 (2) 7V/2
(3) 5y21 (4) 642
I &t (5) 4410 6) 18
(1) /75300 = 4/7.53 X 4/10000 - \/170—0 - _\/?TO
=/7.53 X 100
) ) 32 1o — 35
= 9.744 X 100 = 274.4 ® =5 :
J7.53 )
2) 0.0753 =
o V100 [ 8t]
:”71'(?3 (1) V6 Xy10=y/2X3 xX+/2X5
g =/2"xX 3 x5=2/15
— 2T _ ora
10 (2) V7 XV1d=yT xy2X7
=VTXxX2=17/2
ﬁﬁﬁ’gf'uﬂfrﬁn P.48 (3) /35 X156 =4/5X7 xX4/5X 3
=4/5"X 7 x3 =521
) @ () @ (3) 3v% (1) V3 x2/6 =y/3 x2/3%2
=9/ xX2=6y2
V5 ) 2v2 6) /3 g5
W = 5) =5 (5) V8 X y20 =242 x 245
=2X2X4/2 x5 =410
[ 85 (6) V27 x/12=34/3 x2/3
1< L) g L2438 RAT =3xX2Xy/3 X3
Y RN & e & T T T X7 V3
=3X2xXx8=18
9./3 /35
T3 T V7
7 VT /0=
3 B 6Xy2 (7) V7 =410 /10
V2 /2 xV2 _ VT xYT0 _ Y70
_6y2 _3/7 V10 X /10 10
2 . 53
4 5 _ 5xyb (8) 5v2 +(—v45)= 575
2¢5 25 x5  ETReE
_5V5 _ V5 T35 x5
A%y K _ /10 __JT0
5) —2 A2 =T 3x5 3
52 542 x4/2 =
4ﬁ 2.9 (9) \/@%\/ﬂ: 7S
“B5x2 5 4
(6) £:3 é _ﬁ
¢ _ 3xyT 8T
=—= T /2 xy2 T 2
73 V2 .
_ 3x43 10 (—y42)+4y/30=— =
V3 xJ/3 7
¥%: 3 \/g
_ VT xy5 __ 43
T 5 x5 5

o B
- EEYE b7
= _ —— =222 _ 0.4472
0 /
1 P.49 — 2
' (4) /0.02 = =
D 1.414
W /B - == =01414
(3) 5 (4) 2
(4 P.49
I 4 '
(1) V6 Xy7 =y6x7 (1) 2v15 (2) ﬂ 3) V5
=12 5 3
(2) VI2x(—y/3)=—y/12x3 52 3]
- 36:636 ) 28 _2/3xJ/5 4 _ 4
W (=V60) + (—y15) =, /20 V5 V5 x5 24 2/6
e :gm _2xy6
— = 5 V6 X6
_2V6 _ V6
= 6 3
2] : P.49 ,
| () 82 _g /2
— /10 10
(1D V72 @ 28 ® 80 _ 5
2D 5y2 @ 3y7 ® 7/Z ‘/fﬁ
- X
[# 8] f;ﬁ
(DD 6v2 =36 xy2 s VP
@ 2/T =VT xyT [5] P.49
=4 x7=,/28 “ .
® 4/5=yT6x/5 W sy 2) 15V
=16 X5 =/30 (3) 123 (4) —36y5
(2D 50 =425%2 (5) V30 T (6 2Y3
— VB X VT =5/ ’ i J
@ vV63=y9x7 52 5]
=V9 X7 =3yT (1) V6 Xy2I=y/3X2x/3x7
® ﬁ-\ﬁwxz{ — VTXEIXT =3y
=49 X2 =72 (2) V15 X /30 =4/5 X 3 x 5X3X%X2
@ =/5X X2 =15/2
PA9 | (3) VIBxy24=3/7 x2yF
—3X2XyY2X6
(1) 14.14 (2) 44.72 —6x2/F =12/3
3 g s
(3) 0.4472 (4) 0.1414 | @) (= VBO)X 237 = (— 2yT5) X 2 X 34T
s : =—2X6Xy15x3

(1) v200 =2 x y100
=1414 X10=14.14

(2) /2000 = /20 x /100
=4.472 X 10 =44.72

=—12x3/5 =—36y5




5

2

fasis
=k

=
&)
.|
2
I

I

5055 o

B
5

(2% [BEpE T
=R CRORED

TR 1| P.50

42
-7
8v5 +v2
443 —5J7

(2]
<
»® = &

[#2 5]
(1) 45 +5¢5 =(4+5)V/5
=945
(20 V2 +3/2=(1+3)v2
:4ﬁ
(3) 7V3 —2V3 =(7—2)¥3
=5y3
(4) 8Y7 —9YT =(8—9)V/T
=—T
(5) 24/10 + 510 +7y10 =(2+5+7)y/10
= 144/10
6) —2v5 +v2 +10¥/5 =(—2+10)y/5 +v2
=8y5 +v2
(7) 5¢/6 —4—3y6 +7=(5—38)y/6 —4+7
=26 +3
(8) 3v/3 +v7 +4/3 —64T
=(3+1)V3 +(1—6)yT
—4y3 =57

[ETTE] 2 P.50
(1) 72 (2) 645
(3) 343 (4) —4/10
(5) 242 (6) 5¢7
Uﬂ 12¢/3 (8) —645
[l .
(1) 5¢/2 +¢/8 =542 +2y2
:7ﬁ
(2) 20 4++/80 =245 +445
=645
(3) V75 —v/12 =543 —24/3
=3/3
(4) V40 — /90 = 24/10 — 3410
=—y10
(5) V72 —v/B0 +v2 =6/2 —5/2 +V/2
zgﬁ
(6) 47T —v28 +4/63 =4yT7 —2/7 +3V7
:5ﬁ
(7) V108 — /48 +54/12 =643 —4y/3 +10/3
=12/3
(8) —+/45 4+ /125 —24/80 =— 35 +545 — 845
:—Gﬁ
wzmnEH p.51
(1) 5y2 (2) 4V3
(3) @ () —i?
(5) 33 (6) %
L
(€D |
(1) 3f_+¢_ 3T R /7
:sJ‘+2J‘ 5¢2
6 6
(2) ﬁﬁ+;T?fSJ§+E7?
=3y/3 +v/3 =443
V6 . 1 V6 V6
(3) T+ ) + 6
_ 2¢/6
T3
25 2510
= 1(
) 10 V90 10 sy iy
:56373ﬁ6__ ?

w>ﬂiMﬁ+/*—wh wf+\r

=2v/3 +4/3 =3/3

(6) lj;+¢_. /28 = J_ “{742¢7

3

:1%:+3J7—2f7:£%z-

CETEL 4| P.51
(1) 2442 (2) 5¢/2 —2V5
(3) 6—3y3 (4) V6 +v3 —v2—1
(5) 1+y2 (6) 7—2y5
[mal
) V2 (V2 +1)=(2)+y/2 x1
=2+y2

) V5 (V10 —2)=v5 x /10 —y/5 x 2
=5v2 —2/5

) V312 -3)=V8 xy12 -3 x3
=6—3y3

4) (V3 —1)(v/2 +1)
=V3 XyV2 +y3 X1—1xy/2 —1x1

1 =y6 +v3 —V2 —1

(5) (2v/2 4+3)(W2 —1)
=2/2 X2 —2¢2 X1+3%xy2 —3x%1
=4—2y/2 +3y/2 —3
=1+4/2

(6) (3v/5 +4)(v/5 —2)
=35 Xy/5 —3y/5 X2+4xy5 —4x2
=15—64/5 +4y5 —8
=7—2J5

EEIEEA 5 | P.52
(1) 114643 (2) 2+2y5
(3) 58—15y2 (4) 23+8y7
(5) 19—6y2 (6) 8—2y15
(7} 3 (8) 4
(90 9—y5 10 10
(W 7—64/7 2 9

[z 3]

(1) (V3 +2)(v/3 +4)
=(/3)+(2+4)/3 +2x4
=3+64/3 +8=11+6+3

(2) (V5 —1)(v/5 +3)
=5 )Y+(—1+3)y5 —1x3
=5+2y5 —3
=2+2y5
3) (V2 =72 —38)
=(W2)+(—7—-8)y2 +7x8
=2—154/2 456
=58—15¢/2
4) (WT +4)y=WTr+2x4xy7 +4
=74+8/7 +16=23+8y7
(5) (3v/2 —12=(8V/2)—2x1x3y2 +1*
=18—6y2 +1=19—6y2
6) (V5 —v3)=(5)—2xy3xy5 +(/3)
=5—2y/15+3=8—2415
(7 WT+2)(WT —2)=(JT)—2

=7—4=3
@MWWWYFPFFWTfMU
=11—-7=4
9 (V5 +1)W5 —1)+vV5 (/5 —1)
=5—1+5—4y5
zg_ﬁ

0 (V3 +v2)+ (/3 —v2)
=34+2V6 +2+3—2/6 +2
=10

W (V7 —4)7T+4)+ (7 —3)
=7—16+7—64/7 +9

=7—6y7

1@ (V5 +v2)'+ (V10 +2)(v10 —4)
=5+24/10+2+10—24/10 — 8

=9
EETEA 6| P.53
“U4ﬁ#8

2D 12 @ 46

3D 5 @ —V5+5

(4) 32
[ 5]

(1) —ay=zx(x—y)
=(V2+2)(Y2 +2-v2 +2)
=(V2 +2)x4=44/2 +8
20 z+2xy+y*=(x+y)
— (/T /T +VT T
=(2/3 =12

= 85 =




@ —y=(z+ty)z—y)

(6) 3y10 —7—5y/10+10=(3—5)4/10 — 7+ 10

=3 +v2+V3—-v2) =—2410 + 3
X(V3+y2 —vV3+v2)
=BfE K22 [2] P54
=446 -
=(2+V5 —2) (3) —v5 ) 4y7
=(/5)=5 (5) —4y3 6) 6yI0—2v5
@ a*—5a+6=(a—2)(a—3)
=(2+V5 —2)(2+v5 —3) [# 5]
=/5(—1+y5)=—+5 +5 (1) 643 +4/12=64/3 +2/3
4) (x+2y)—(xr—2) =8/3
= (2’ + 4oy + 4y*) — (2° — dxy + 49°) (2) V18 —2V2 =3v2 —2/2
= 8xy =2
=8(WT7 +V3)WT —=V3) (3) /45 —2y20 =35 —4y/5
=8(7—3)=32 =—45
(4) V63 —2¢28 +5¢7 =3y 7 —4y7 +547
- LT
=3 By B .
wzn BBE | o 5 % 0 e = 8y T T — 1548
=—443
2 V2 :1
v (6) /160 — /80 + /40 + /20
[#25t] =410 —4y5 +2/10 +2V5
(1) | 121F 2 DIEDETTMABHTIEE 50 =64/10 —2¢/5
(2) ABIZAD D V2 L% 5, -
13| P.54
2% [WaEe & -
— TS -
V"ZJ = ﬁi EE,EE,HM. W —vz 2 =30
- 3YT (1) LLV6
(1] psa | | ¥ 77 3
= |
(1) 5¢7 (2) 4¢3 (l Y,
(3) —6410 (4) —y/6 1 5 = 5
(5) —24/2 —+/5 (6) —2410+3 =2/2 —8/2 =—y2
V5 3 _ 45  3J/5
(2) + 5tz
[ 8t] 2 V5 .
11V5
(1) 2¢7 +3¢/7 =(2+3)VT7T =
=5/7 8 4
(8) VT =T ———
(2) 53 —/3=(5—1)v/3 28 f; e
' —4/3 =T =y ="%

2410 —84/10 = (2 —8)4/10 ) 7 )
e h PR TV
(4) V6 —4v6 +2V6 =(1—-4+2)V6 :“@'7%+7?

=—qE _ 1/6
(5) 42 —v/5 —6y/2 =(4—6)vV2 —y/5 3
=—2/2 —«B

P.54
(1) 9+3y/2 (2) 10—5¢/3
(3) 4—4/3 (4) V35 —4y7 +34/5 —12
(5) 4—542 6) 2¢/2 —y/5
J
52 5]
(1) V3 (38vV3 +vV6)=v3 x3V/3 +v/3 xy§
=9+3y/2
(2) V5 (V20 —y15)=y/5 x /20 — /5 x /15
=10—543
5y V32 6
(3) (v32 ﬁ>.ﬁ—ﬁ )
:4;\/§

(4) (V7 +3)(v5 —4)
=VT xV5 =T x4+3xy/5 —3x4
=35 — 47 +34/5 —12

(5) (V2 —2)(3y2 +1)
=vV2 X3y/2 +/2 x1—2x3/2 —2x1
=6+v2 —6y/2 —2
=4—5y/2

6) (V5 +v2)(V10—3)
=5 Xy/10 —y5 X3+4y/2 X/10 —/2 x 3
=5¢2 —34/5 +24/5 —3y/2

=22 —/5
—
[5] P.55
(1) —33—2y2 (2) 30—114/6
(3) 21+8y5 (4) 11—4y6
(5) 7 (6) —29
(7) —4—4y3 (8) 4435
(9) 18—3y5 1) 13+114/3
[#2 5]

1) (V2 =7)(V/2 +5)
=(W2)l+(—=7+5)y2 —7x5
=2—2y/2-35
=—33—2/2

(2) (V6 —3)(vV6 —8)
=(W6)+(—3—-8)y6 +3x8
=6—11y/6 +24
=30—11v/6

(3) (V5 +4)=(/5)+2x4x45 +42

=5+8y5 +16=21+8y5

(4) (V3 —2v2)
=(V/3)y—2x2/2 X3 +(2y/2)
=3—4y/6 +8
=11—4y/6

(5) (V10 +v/3)(y10 —v3) = (y10)*— (V3 )’

=10—3=7

(6) (2¢/5 +7)(2V/5 —7)=(2y5 ) —72

=20—49 =—29

(7) (V3 +2)(WV3—2)—v3 (V3 +1)
=3—4—3—/3
=—4—4/3

8) (V7T +v5)— (/T —y/5 )
=7+2v35+5—(7—24/35+5)
=44/35

(9) (2v5 1= (V5 +1)(v/5 —2)
=20—4vy5 +1—(5—y5 —2)
=21—4y/5 —3+4/5
=18—3y/5

10 (V6 +2v/2)+ (/3 —1)(V/3 +4)
=6+44/12+8+3+3y/3 —4
=6-+8/3 +8+34+3/3 —4

=13+11y/3
6] P55
(1D 28 @ 1247
2D 2 @ 8y2 +2
(3) 4
L )
€D '

(DD 2*+2xy+ 9= (z+y)
=7 +3+y7 -3y
=(2vVT7 =28
@ 22—y
=(x+y)z—y)
=7 +3+y7 =3)(y/T +3—4/T7 +3)
=2/7 X6

=12V7
2D a*—10a+25=(a—5)
| =(5+VZ —5)
=(/2)y=2

@ @*—2—15=(a—5)(a+3)
=(5+y2 —5)(5+4/2 +3)
=vV2 (84+v2)=8y/2 +2




3) (x+y)dx+y)—(2x+y)
=4x'+xy +4xy + y* — (4a* + dxy + y?)
=1y
=6 +vV2)(V6 —v2)
=(6)y—(v2)
=6—2=4

7] P.55
V2

%28
IEAH A ORifE 1, EHE B OWRIE 2 2255,
ENBBO1IAORESE V2 L%b,

(28 G s
B8 b L —| =) >

1 P.56
(1) /30 (2) —y77
(3) /26 4) 6
(5) /5 (6) 4
M —y5 ® &
(9) 3435 10 —647
1) 14410 12 —2465
13 24 14 15410
(15 126 16 —164/15
63D |
®) (—yID)+(~yE) =,/ 1L
_ /1 _1
V42

(9) V15 X421 =4/3X5 x4/3X7
=y/32X5xX7=23y/35
0 V6 x(—v42)=y6 X(—v6x7)
=—V6'XT=—6yT7
(1) 2414 X /35 =2/7TX2 X4/7TX5
=2y/T*X 2 X5 =14y/10
12 (—v26)xy10=—+v2X13Xy2X5
=—y2X13X5=—2y65
13 VI8 xy32=3y2 x4y2
=3X4Xy/2 Xy/2 =24

19 V45 X /50 =3y/5 x5¢2
=3X5xy5 Xy2 =15/10
15 63 X 3y/28 =347 X3x2/7
=3X3X2xX /7 x4/T7T =126
16) /80 X (—2v12) =445 x(—2%2/3)
=4X(—4)X /5 X3

=—16y15
2| : P.56
r 3v2 1
5

(1) 5 (2) 5
(3) V6 (4) %
(5) 35 6) Y3

2 )
(7) @ (8) v2

T V6
(9) 1—C (10) T
I#25)

(i L RAE @) Y3 _Y3XVS
V2 V2 xy/2 V5 V5 xy5
_3v2 _ VIS5

2 5
(3) 6 6X4y6 @ 4 _ 4xy7
V6 V6 XvV6 3WT 3T xyT
SN _ 4T
3X7
_ 4T
21
() - 18xV5 o 8 _ 8
2v5  2v5 x5 V12 2y/3
_ 155 —_3xv3
T 2X5 23 xy/3
_3V5 _ 43
2 T2
L T @ 25 _ 2
20 245 10 2
_ 5x4/5 22X yY2
" 2J5 xV5 W2 xy2
_ V5 =2
2
(9) ﬁZL (10) ﬂ:i
2/14 2/ 7 42 /6
B JT _ 3x4/6
T 2VT X7 /6 X6
_JT _ V6
14 2

3 P.57
(m 9v3 (2) —4y6
(3) —64/5 4) 747
(5 0 (6) 643
(7) 2410 (8) 2¢/7
(9) 6y/2 —5/3 10 345 —y3
1) V7 +4/6 12 2410 +y5
13y 2 (14 3¢5
15 243 16 1043
1 245 1 2
19 4¢3 20 —3y2
gy —/7 @ —5y5
2y 82 —7/3 ) —2y3 +2/5
@) —3 +2/2 €0 10v/5 —9y10
(8|
(9 V2 —4y3 +5/2 -3
=(1+5)vV2 +(—4—1)y3
=6v2 —5y/3
10 4y5 +y/3 —y5 —2/3
=(@4-1)vV5 +(1-2)y/3
=3v5 —y/3
1) 27 —y/6 +5y6 —y/7
=C—-1DV7+(—1+5)/6
=T 4446
12 3y10 —2v5 — /10 + 345
=@-1DV1I0+(—-2+3)y/5
=2/10 +¢5
13 3y/2 -8 =3/2 —2y/2
=y2
4 V5 +v20=y5 +2/5
=345
15 —y27+y75=—3/3 +5/3
=2/3
16 108 ++48 =643 + 443
=10v/3
(17) Vﬁ—*3f§:of§—3/§
=25
18 2y18 —y/50=2x%3y/2 —5/2
=2
19 38 —yIZ+V75=y3 —2/3 +5/3
=443
© V32-5/2 -8 =4y2 —5/2 —2/7
=—3y/2

@1 —@+«/6‘~2\/7:~2\/7+3«/7—2\/7

=T

22 \/4—;2¢2——¢%:3\/§~2x2ﬁ~4.\/€

=—5/5

€3 V18 — 27 + /50 — /48
=3v/2 —3y/3 +5/2 —4/3
=8y2 —7/3

@) 2412 — /45 + /125 — /108
=2x2y/3 —3/5 +5/5 —64/3
=—2v/3 4+2/5

05 V27 —/32 — 2412 + 3,8

=3v/3 —4y2 —2x2/3 +3x2/2

=—y/3 +2¢/2

28 /80 — /160 + /180 — /250
=4y/5 —4y10 + 6y/5 —510
=10v5 — 9410

4 P.58
(1) 5/3 (2) 242
(3) 5{? 4) 0
(5) /15 (6) A2
5 3
(7) V3 (8) —4
9) —v6 (10) er
9]
[#2 5]
. 9 943
1) 3+ == Lot
( zﬁ+ﬁ 2\/§_+ 5
=543
(2) VIB———=3y7 ——4_
8 2/2
=3y/2 —/2 =22
@ YE, 1L _JT T
3 Jo 3 2
_5v2
6
10 1045
4 e —= X
(4) - 20 : 2/5
=2y5 —2/5 =0
6) VB0 —\/3 =2yT5— Y1
_ 915
5
6 Y0 __2 5T 3
3 18 3 32
52 Y2 _ 4
3 3




D VT HVE - =T 2/ S W 205 +/B V5= +3/5 7] poo | DI
S VF 2T 2/T =T —4/F +3/F=1/5 ( ' N B
®) VA0 35— =2/5 ~3/5 - s 1 V5 X VT 5y =0 -V ) s7+12v2 (2) 23-95
. (3) 17+12y3 (4) 1042421 n
_25/:3\/? 3\/— :@ (5) 33—204/2 (6) 24—12¢3 o
- (M 4 (8) 41 D @ 5
T g We ® THR
(0) T+T6—*m «/2_ f /% 6| o 5o (9) 16—2y2 0 —2—y5 @ va ® —+va ® a
i L_zﬁ:_ﬁ \ B —5+47 2 1-7/3 @ a < © HEH
(1) 6+y6 (2) 7—4 } T O
7 \/%JW%O ¢;—0 C @ (8) 8y2 —7/3 (4) 6+6g (el ® K i‘égﬁlﬁﬁ% s
iyt o teasE o oo o | 1) (W2 +5)W2+7)=2+(5+7)/2 +35
B (M V5 +v3 ®) V3 -3 | =8
0 V58T —adT 32 (2) (V5 —=3)(V5—6)=5+(—3—6)y/5 +18 E
m (10) ~/— \/_ =23— 9\/? P.60
— i (1 1_22+\/31_:3 6 12 26+10V5 | B QT DT +5) =2+ LR T o Vab vab B
a a
(1) 3V6 (2) V3 =17+12/3 © vab \/%[ / }
S 7E W 6T (5231 | @ (VT+V3)y=7+2/21+3 @ V&b aé? T
(5) 92 (6) V6 (1) V2 (3/2 +vV3)=v2 x3V2 +v/2 xy3 : =10+2421 \
0 3 &) 7YE i+ JF (6) (6—2y/2)'=25—20v/2 +8
9 —a/T e | @ vTwT-n=(Tr-yTxa e B
W 7v5 1 Y10 =747 | 0 (3/2 =6 =18-6y12 +6 : 0
2 (3) V3 (V6 —7)=+v3 xy6 =3 x7 =% 1247 € 4 @ 3 @ 743
b T T (M WT+V3)WT —y/8)=7—3 & & @ s B 8vT
‘ _ (4) 2V3 (V3 +VB)=2y3 xV3 +2/3 x V6 =4 _
(1) 2/6 +v2 xy/3 igﬂ/? —64+6V2 (8) (3v/5 +2)(3y/5 —2) = (3¢5 )* — 2° E@? g g \6/_2\/?
- 3
[V (5) VZ (VB +2/12) =2 X VB +V2 x2/12 =an—d=dl
2) VI2—V6 +V2=2/3 —3 B 9 (V2 =3y+(2+1)(V2 +3) & dde @ ! D 3
T =44+4y6 R ‘ 5+4v2 @ V5 V2
) 35 VT x YT =3V — 245 (6) VB (2V8 —VI8) V6 x2/3 — V6 x VI8 . zr”““ﬁ“” e 74200
=16—2v2
_JE =6v/2 —6v3
(10) 5 — _
W VT XTT 43T+ 3T - (\/ﬁ—l—\/ﬁ)%ﬁ:@—k—@ _(\/_’Fﬁ)(*/g vV2)—v5 (W5 +1)
VT T =5—2-5—45
=62 =V5 +V3 =—2-y5
(5) Nﬂmxﬁiggﬂﬁ ®) (JI5—yI5) + /5 = ¢; _~/¢£ 1 (V7T =17 +4)— (/T +1)
S iy g T T =T =3 i;+3\/«/i—4—(7+2\/7—+1)
—JF 0 (V2 +4)W6—-v3) = +3}—8—2ﬁ
n R R =23 —6 +4/6 —4/3 AR
(7) V2 xy6 sﬁ.ﬁ_ig 3v3 /T s 1 (V6 —v2)+ (V3 +2)(vV3 —5)
.y 1 LT T T ) =6—24/12+2+3—-34/3 —10
oy =9 X 7—yTd +2/14 —2 =1-Bx2/3 —4d%
9) e —VE xyE=2/7 6y S o
vz VO xvlzmayE ey | @ 3YE —1)(2V5 +4)
=—4v/2 =6x5+12¢5 — 25 —4
0 ﬁxm—%:wﬁ-sﬁ =26+10v5
:4\/3
A0 — 41 —




R T e e P.61
B scoomE @ == o] |
: (1) 4.472 (2) 9.898 (3) 0.2236
_ (4) 0.2828 (5) 0.707 (6) 1.118
1] P.61
- [#2 5]
WD +12 @ +/03 ® & mzzﬁm @) y98=1v2
=92x2.936 =7 x 1414
2D —14 ® 15 ® 11 o -
BXD 9<+v83 @ 447 <7<+50 JE JE
WD VB ® W2 ® 27 (3) v0.05 =" (4) m:ﬁ
3 10 2.236 _Q
10 5
(20D | =(.2236 _ 1414
(3XD 9*=81, (+83)*=83 5
81 < 83 755, =0.2828
V81 < /83 (5) «/ﬁ:@ (6) 125:@
s _L414 _ 223
@ 7°=49, (V50)'=50, (V47)' =47 -2 2
AT < 49 < 50 EH 5, =0.707 =1.118
VAT < /49 <50
VAT < 7 <450 P.62
wo 2o 2XV6 o 8 3XV2 ,
V6 V6 X6 5/2  5/2 xv2 (1) 14¢3 (2) 24y7
:—Zsﬁ :;‘@ (3) 30413 4) V5
_ V6 _ 32 (5) —vZ g — 2
3 10 4 |
@ L2 __ 12
V18 342 (%]
__4xy2 (1) V7 x/84=yT x2/7TX3
V2 xy2 =X 7V3 =14y3
2#:25 (2) V96 X /12 =4y6 X 24/3
=8xX34/2 =244/2
ﬂ - (3) 65 x2/45=y/5X13x2x3y5
) =6 X 5413 =30/13
1) EL<Aw, £6  (2) ELCAW, 9 @) V75 VTE =4/ =2
(3) IELL7ZWw, 5 (4) IELLZw, 0.04 =5
(5) EELW (6) IELL %W, 7 (5) 6¢3 +(—v54) =643 +(—3v/6)
_2/3
Il G
(3) y(—57F=y25 :_%
=5 2/ _
(4) 0.22=0.04 7255, ==y = V2
V0.04=0.2 (6) 21+(—¢%):——221ﬁ
(6) Vi6+4y9 =4+3 T 3/
- =i 2% 14 4

P.62 E

P.62

(1) V6 (2) V7 +4y5 (1) 2, 3 5 (2) 15

(3) 8v2 4) —V3 (3) 7

(5) 2¢/6 —2¢y2 (6) 8y3

(7) 12¢/3 —6y5 (8) V15 +2v2 (% 5]

(9) 15—4y14 0 7+2/5 W V1=1 Vi=2

V2, V3, V5 IHEEKE D,
[ 5] (2) 60n=2X3X5Xn
1) —V6 +4v6 —2/6 =(—1+4—2)/6 n=150¢%E, V60n=2%x3x5
=v6 =30

(2) 8V7T +y5 —2/7 +3/5
=(8=2)y7 +(1+3)/5
=7 +4y5 _

(3) v50 ++v18=5y2 +3/2

=842

(4) V75 —24/27T=5/3 —2x3/3

——J3

(5) V54 —/32+y8 —/6
=3v6 —4y2 +2/2 — /6
=2v/6 —2y/2

w>myﬁ#%§ﬂﬁﬁ7%
=7/3 +v/3 =83
(7) V6 (V72 —+/30) =y6 (62 —/30)
=6%x2v/3 —645
=12V/3 —6y5
(8) (V10 —v3)(V6 ++5)
=/60 ++/50 — 18 — /15
=2V15+5/2 —3/2 —y15
=15 +2/2
9) (W7 —2/2)=7—4/14 +38
=15—44/14
0 (V5 +2)(v/5 —2)+ (V5 +1)
=5—4+5+2y/5 +1
=7+2/5

(3) ML, 500+ 10=50 (cm?)
a 1 50 DIEDFFHMEH 5,
a=+/50
7'=49, 8'=64, 49 <50< 64 7ZH 5,
7<4/50<8

28 BEal e e

(3) 3*=9, 8.5*=12.25 (/11)=11
9<11<12.25 7505,
3<y/11 <35

B zcoomem = =]
n P.63
r MR
m Y 3 /8 3
5 "5 V5 /5
V21
2)D - @ gﬁ-ﬁ
(3) B
[#2 5]
W 3_ /5 J3_ /3 3 _ /g
5 25 5 25 J5 N5
3 _9 3 _ 9., .
25 25 <5 <F b
V3 _3 \/7 3
5 5 V5 <75
6 V3
(2 =2
O Ty VT
:“/ﬁ
7
V3 +v30 1
&) 75 ~ﬁ+\/€




E : P.63

lﬁ@snl
) VB X(—2/3)'=v6 x(—8x3Y3)
=—72/2
) VE = xy =2
=4

) VBT 6T = 2B
=2

(4) 6%_ +\/_0—15\/%
:%H«/ﬁ—wx@

5
=415
) V8 —V8xV6 +64/6 +v3
=2y2 —3v/2 +6v2
_5\/—‘
(6) F —V18 X3 = f—:sﬁ
=6 —3/6 =—2V6

m Ve ( %——ﬁ\f—Tﬁ)

S
=3-2=1

8) VB + e X (— VT

4V 2 24
= X
=5y2 +—— 5 /3 2

=5/2 +2/2 —12/2

:_5¢—
(9) (\/_+2)sz_5+4~/—5—+4_ 10~5/§

=9+24y5
1) (245 +3)—6(2¢5 +3)+9
- =20+124/5 +9—12y/5 —18+9
=20 A
(Bl 245 +3=A&BLL,
A*—6A+9=(A—3)
=(2y5 +3—3)
=(2V5)'=20

1) (32 +v10)*—(3v2 —y10)*

=184 64/20 +10 — (18 — 64/20 + 10)
=6Xx2y/5 +6Xx2y5

=245

@ (V6 —v2)-— F(FH)(‘/— 4)

=6—2/I2+2— 10— 16
V12 «/_( )

12
=8— 2x2¢_+ﬁ
=8—443 +44/3 =8
3 P64
(1) 13, 14, 15 (2) 6, 11, 14, 15
(3) 10 (4) 7, 28, 63
(5XD a=4y6 —2 @ 6
(€ |
(1) 352<(Va)<4*Xxy,
12.25 < a < 16

(2) 15—a=0, 1, 2% 3
a=15, 14, 11, 6
(3) 10*°=100, 11*=12172H5,
10 < /120 < 11
(4) 28=2:x7
22X T X a BFHRED 2 FIZRDBDIX
a=Tx(BARB) DL &,
a="1T, TX2%, 7x3
5D 2<yV6 <3705, V6 OEEERZ 2
@ a*+4a+4=(a+2)
— (/6 —2+2)
=(/6)=6

4| P.64

(1) 3/6 (@ -145

\

(6D |
(1) &*—b*=(a+b)(a—0b) &1,
3y2 Xxv3 =3/6

2) (a+b)=a*+2ab+0b (a—b)=a"—2ab+ b
X0,
(a+b)—(a—b) = 4dab,
(3Y2 ) — (V3 ):=18—3=15 715,
dab=15, ab=1>

E P.64

B P.65

[ R 5
6.7 cm (1) 348

. ) VS, 14FH  2y12, 247H

[#2 3] )

WL, 7X 3+ 71X 6°=457 [#2 5]

=7 x(3/5)" (cm?)
b, PR,
3v5 =3x2.236
=6.708 (cm)

E P.65

(1) 3ATHICIE 8V &) HAsiE s, V72 =v3'X8 L 1,

V72 =3/8
(2) 4¢3 =y48 — 147H
43 = a8 =VT'X1Z = 212 — 2 47 H

E P.65

) v2:201:/2) (2 2:1

(6D |

(1) AB=zxem & 95&, EAROHRMIE
%x2x2:2(cmz) EHs, =210 z=y2 (cm)
(2) MPOEEE, 2x % =1(cm), P QDERIE
ﬁﬁ&éBCD DIBOESEHEL VDS V2 em, P8

—Cm

oT, mFEDLIZ

(nxlz):{nx(@'ﬂ:l 1y i1

P.65

(1) 443 em
(2) (LY, PorumiE
(4V8 +2)'=52+163 (cm?)

T DI,
(4V3 —2)=52—16v3 (cm?)
Lo,

T DR — 7 OTHiFE
=(52+16v3)—(52—16V3)=32+/3 (cm?)
%8324/3 em?

[ 5]
1) V48 =4v3 (cm)

(1) ELL Zvy,
B V2 IZERRTH LY, V2 X2 =2
&Ry, TRIIEEME L,
(2) () WEOPOEA100BICH2 LI
fEIZ 10 & e TV,




